awand:

1 10 out of
s 10.00

Use the May 31 fiscal year-end information from the following ledger accounts {assume that all

accounts have normal balances).

General Ledger
M. Muncel, Capital _ Agct. No. 301 ‘Salaries Expense ~ Acct No. 622
Date PR Debit Credit Balance Date FR Debit. Credit Balance
May 31 G2 89,000 hay 31 G2 44 500
M. Muncel, Withdrawals _ Agct. Mo, 302 Insurance Expense ~ Acct. No. 637
Date PR Debit Credit Balance Date FR Debit. Credit Balance
May 31 G2 54 000 hay 31 G2 5,720
Services Revenue ; Acct No. 401 -Rent Expense : ~ Acct No. 640
Date PR Debit Credit Balance Date FR Dehit Credit Balance
May 31 G2 156,818 Way 31 G2 12,040
Depreciation Expense ; Acct No. 603 Income Summary ~ Acct No. 901
Date PR Debit Credit Balance Date PR Debit. Credit Balance
May 31 G2 22,000

Prepare closing journal entrigs from the above ledger accounts.

1 Services revenue v 156,8184/
Income summary v 156,818/

i 2 Income summary q\‘ !EI-ti,ZZ‘lEEL}g
Depreciation expense v 220004/
Salaries expense J 44 Eﬂﬂq\‘:
Insurance expense vl 5 ?EEIJ;
Rent expense v 12 0404

3 Income summary J: ?2558..}
. Muncel, Capital o 725584/

4 M. Muncel, Capital J 540004
M. Muncel, Withdrawals o 54,0004/

Post the abowve entries to their _re&pecti*.fe ledger accounts in the order entered under Part 1.

May 31 89,000 May 31
3 v ?2,553..} 161,558 2 JT 44 5ﬂﬂ¢ 0
Y 54,0004/ 107 558
May 31 ' May 31 ' 5720
4 v 54 aﬂn..} 0 2 J 5 ?zw 0
May 31 156,818 May 31 12,040
1 ..} 156 313« 0 2 | 12 mw 0
May 31 v 156 313.} 156,818
2 v 22,0004/ 0 W 84 ZGW | 72,558
W 725584/ 0



award:

10 out of
10.00

paints

The following adjusted frial balance contains

December 31, 2013, the end of its fiscal year.

No. Account Title
101 Cash

126 Supplies

128 Prepaid insurance

167 Equipment

168 Accumulated depreciation—Equipment

301 T. Cruz, Capital

302 T. Cruz, Withdrawals

404 Services revenue

612 Depreciation expense—Equipment
G22 Salaries expense

G3T Insurance expenss

G40 Rent expense

G52 Supplies expense

Totals

the accounts and balances of Cruz Company as of

Debit  Credit
518,000
10,100
2,000
23,000
$ 6.500
42.720
6,000
43,200
2,000
25,185
1,814
2,594
1,426

$92.420 3$92.420

1. Prepare the December 31, 2013, closing entries for Cruz Company. Assume the account number for

Income Summary is 901.

Dec.31 Services revenue
Income summary
Dec.31 .lm:ume summary

Depreciation expense—Equipment

Salaries expense
Insurance expense
Rent Expense
Supplies expense

Dec.31 .[ncume summary
T. Cruz, Capital

Dec.21 T.Cruz, Capital
T. Cruz, Withdrawals

v 82y
v S
v may

v 2,000/
W 25 1864/
J 1814y
v 12,8944/
v 1.4264/
v smoy

v 9.880¢/
v 60004

v 6,000/

2. Prepare the December 31, 2013, post-closing trial balance for Cruz Company.

Cash

Supplies

FPrepaid insurance

Equipment

Accumulated depreciation—Equipment
T. Cruz, Capital

Totals

.’Z
J.
J.
J.
J.
v

$ 180004/
10,1004/
2.0004/
23,0004/

$ 6.5004/

' 46 6004/

53100 | 53,100 |




award:

10 out of
10.00

points
The adjusted trial balance for Salonika Marketing Co. follows. Complete the four right-most columns of
the table by first entering information for the closing entries and then completing the post-closing trial
balance.

101 |Cash $ 10,100 ' 5 10,1004/
106 Accounts receivable - 26,000 | . . | 25,0004/
153 Equipment ' 42000 | ' ' | 42,0004/
154 Accumulated depreciaton—Equipment '$ 17500 | ' ' ' 17,5004/
193 Franchise 3 31,000 | : ' ' 31,0004/
| 201 | Accounts payable ' | 15000 | ' ' ' 15,0004/
200 Salaries payable : ' 4200 | ' : ' 4,200/
| 233 Uneamed fees ' ' 3600 | ' ' ' 3,600/
| 301 |E. Salonika, Capital ' | 62018 | 15,4004/ 21,1824/ ' 67,2004/
| 302 |E Salonika, Withdrawals ' 15,400 | ' ' 15,4004/ '
| 401 Marketing fees earned - . 94,000 | 94,0{10«: l
. 611 .Depre{:jation expense— Equipment - 12,000 . . | 12.3[10«‘.
. 522 :Salaﬁés ExXpense : 3?.452. . : | 3?412.}
| 640 .F{entexpense - 14288 | . . 14,233«‘.
' 677 :Miscellane&us ENPENSEe 49,118 ' ' 9,1181}'
| 901 Incomesummary ' ' ' 72.818¢/ 94,0004/
' ' ' ' | 21,1824/ '

| Totals 5 106318 |$ 196318 |$ 203400 |$ 203400 |§ 108100 |5 108100




award:

10 out of

10.00

paints

The following is the adjusted trial balance of Wilson Trucking Company.

Account Title Debit Credit
Cash § 7.600
Accounts receivable 16,500
Office supplies 2,000
Trucks 158,000
Accumulated depreciation—Trucks § 32,548
Land 75,000
Accounts payable 11,600
Interest payable 3.000
Lang-term notes payable 52 000
K. Wilson, Capital 164,050
K. Wilson, Withdrawals 16,000
Trucking fees earned 111,000
Depreciation expense—Trucks 20,9593
Salaries expense 52059
Office supplies expense 13,500
Fepairs expense—Trucks 4 546
Totals $374,198 5374198

The K_ Wilson, Capital, account balance is $164,050 at December 31, 2012,

1. Prepare the income statement for the year ended December 31, 2013,

Revenues
Trucking fees eamed 7 5 111.000¢
Expenses ' ' ' '
" Salaries expense 45 52050¢

Office supplies expense J. 13.5{]0qu

Repairs expense—Trucks J. 9.546.}.

Depreciation expense—Trucks J. ED,QBM.

| o
1]

Taotal expenses GG 098

Net income v $ 14,902

2. Prepare the statement of owner's equity for the year ended December 31, 2013,

(K. Wilson, Capital. Decemnber 31, 2012 o/ § 164,050

Add: Net income v 14,9024/
' 178,952
|Less: Withdrawals J' 19,0004/

:K. Wilson, Capital, December 31, 2013 q‘ £ 150,952 |



award:

5 9.60 out of
- 10.00
paints
Account Title Debit Credit
Cash % BEO00
Accounts receivable 24500
Office supplies 6,325
Trucks 174,000
Accumulated depraciation—Trucks & 35844
Land 41,000
Accounts payahble Q. 500
Interest payable 16,000
Lang-term notes payable 35,000
K. Wilson, Capital 130,925
K. Wilson, Withdrawals 19,000
Trucking fees earned 123,000
Depreciation expense—Trucks 23119
Salaries expense 53,035
Office supplies expense 2,000
Fepairs expense—Trucks 8 850
Totals $350,260 £350.2690

Use the above adjusted trial balance to prepare Wilson Trucking Company’s classified balance sheet as
of December 31, 2013.

Current assets v
Cash q‘ $ 55004/
Accounts receivable J. . 24 5004/
Office supplies J. 6,3254/

| = ; .
0 0
.Tc-tai current assets $ 36,325
| X
Trucks V5 1?4,:][13«' '
Accumulated depreciation—Trucks «. 35,344«‘. 138,156
Land v ' 41,0004/
Total plant assets . 179,156
Total assets &3 215,481
Liabilities

Current liabilities J.
Accounts payable < 5 9,5[]!]‘}.
Interest payétﬂe v 15,0[}!]&.

. -
a

.Tutai current liabilities 25,500

Long-term liabilities q‘
Long-term notes payable v 35.9[]&,/.

| ) .

1]

.Tcrtai liabilities 60,500

Equ'rlf.r

K. Wilson, Capital w 1549814/

. a

1]

Total liabilities and equity :$ 215 481
*Red text indicates no response was expected in 4 cell or a fornula-based caloulation is imcorredt; no poinis

duducted.
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10.00
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Use the information in the following adjusted trial balance for the Wilson Trucking Company.

Account Title Depit Credit
Cash & G000
Accounts receivable 16,500
Office supplies 2.000
Trucks 160,000
Accumulated depreciation—Trucks & 32060
Land 75,000
Accounts payable 13,000
Interest payable 3,000
Long-term notes payable 52000
K. Wilson, Capital 151,879
K. Wilson, Withdrawals 19,000
Trucking fees earned 128,000
Depreciation expense—Trucks 21,259
Salaries expense 60.032
Office supplies expense 7.040
Fepairs expense—Trucks 11.008
Totals §380,830 5380834

1. Calculate the current ratio.

Current assets « ! Current liabilities o = Current ratio

g 275004 ! $ 16,0004 = | 1.72

2. Compare Wilsan's current ratio with the industry average. (Assume that the industry average for the
current ratio is 1.5.)

'!x Wilson's current rafio is above the industry average.
CWilson's current rafio is below the industry average.



award:

10 out of

10.00
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1. Compute the current ratio in each of the separate cases. (Round your answers to 2 decimal

places.)
Case 1 5 75000 |§ 30267 1914/
|Case 2 90 TE0 94,611 1.054/
(Cass 3 42300 60,676 0.704/
|Case 4 81,225 101,981 0804/
(Case 57,675 124,778 0.464/

2. ldentify the company case with the strongest liguidity position. (These cases represent competing
companies in the same industry.)

®(Case 1
@ Case 2
D Case 3
CiCased
@ Case 5



award:

10 out of

10.00
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Use the following information from the Adjustments columns of a 10-column work sheset.

Mo,
108
124
128
164
204
409
612
620
B36
637
650

Adjustments
Account Title Br. Cr.
Interest receivable {dl§ 751
Office supplies {B)% 1,906
Prepaid insurance {al 1,156
Accumulated depreciation—Office eguipment {e) 3,300
Salaries payable {e} 831
Interest revenue ay T51
Depreciation expense—Office equipment {c) 3,300
Office salaries expense (e} 831
Insurance expense—Office equipment {al 55h
Insurance expense—5Store equipment {al G601
Office supplies expense (bl 1.906
Totals 57,944 57,944

Prepare the necessary adjusting journal entries (a) through (g).

Insurance expense—Office equipment
Insurance expense—3store equipment
Prepaid insurance

{4)] {Office supplies expense

L4 QRSIS

Office supplies

(c) Depreciation expense—Office equipment
Accumulated depreciation—Office equipment

(d) Interest receivable
Interast revenus

(=] .Dl‘ﬁce salaries expense

L4 A8 K&

Salaries payable

5554/
6014/

1.906¢/
33004/
7514

8314/

1.156¢/

1,006/

3.3004/

7514/

8314/



award:
10 out of
10.00

The Adjusted Trial Balance for Flanta Company follows. Complete the work sheet by extending the
account balances into the appropriate financial statement columns and by entering the amount of net
income for the reporting period.

101  |Cash £ 0,000 | f 3 9,000/
106 Accounts receivable | 39330 | ' ' | 393304/
153 Trucks ' 40000 | ' ' ' 40,0004/
154 :Accumuiéted deprecﬁétit}n—Tmc.l.(s . : 1658[] . : . | 1E[IEW
183 Land ' ' 30,000 | ' ' ' 30,0004/
| 201 Accounts payable ' | 20070 | : ' ' 20,0704/
| 209 |Salaries payable ' \ a7eT | ' ' | 4797
| 233 Uneamed fees ' ' 4197 | ' ' | 41974
| 301 |F. Planta, Capital ' | 70512 | f : | 70.512¢/
| 302 F.Planta, Withdrawals ' 10,632 | ' ' ' 106324/
| 401 Plumbing fees eamed ' | 63000 | | 63.000¢/ '
. 611 :Deprematlnn expense—TrucI-c.s . 53-6[] : . 5369«@ .
. G622 .Salanes expense . 20484 . . 20 434-.}
| B40  Rentexpense ' 9576 | . g EW;
. Eﬁ'? .Mlscellaneous EXpEnse . ﬁ 1?4 . | G 1?4..};
' Totals 5 179556 | 179556 50,504 §3.000 128,962 116,556
Net income f 12,4064/ . . 124{}5‘}

Totals b 63.000 |§ 63,000 % 128962 |§ 128,962




award:

10 out of
10.00

points
These partially completed Income Statement columns from a 10-column work sheet are for Brown's Bike
Rental Company. The owner, H. Brown, did not make any withdrawals this period.

Account Title Debit  Credit
Rent earned 140,000
Salaries expense 62,160
Insurance expense 8,820

Office supplies expense 20,580

Bike repair expense 4 340

Depreciation expense—Bikes 26,740
1. Using the above information, determine the net income.

Net income 45 17,3604/

2. Prepare Brown's Bike Rental Company's, closing enfries.

Rent eamed V‘ 140 D{]Ew'
Income summary J 140,000/
2 .anme summary + 122,540{
Salaries expense v 52,1604/
Insurance expense v 8,820/
Office supplies expense J 20,5804/
Bike repair expense + 43404/
Depreciation expense—Bikes v 26,7404/
3 Income summary J' 1?,360,,!'
" H. Brown, Capital W, 17,3604



L

award:

10 out of
10,00

paints

The following unadjusted trial balance contains the accounts and balances of Dylan Delivery Company
as of December 31, 2013. There were no invesiments by the owner in the current year.

a. Unrecorded depreciation on the trucks at the end of the year is 37, 682.
b. The total amount of accrued interest expense at year-end is §8,000.
€. The cost of unused office supplies still available at the year-end is $1,500.

1. Use the above information about the company’s adjustments to complete a 10-column work sheet.

|Cash 5 14,000 5 14,0004/ 5 14,0004/

 Accounts receivable ' 22,000 ' 22,000/ ' 22,0004/

-{.].rl;ﬁce suppiies ﬁﬁ[]ﬂ .$ 10{}9\} 1@&} 15001}

Trucks 250,000 | 2500004/ 250.000¢/

\Accum. Depreciation—Trucks | '§ 70,000 7.682¢/ $  T77682¢ 5 77,6824
‘Land ' 140,000 | | 1400004/ ' 140,000/ '
Accounts payable ' 21,980 ' 21,9804/ i 21,9804/
nterest payable 1,000 7.000¢/ £.000¢/ 8.000¢/
Lung—termmtes payable Tﬁ,ﬂﬂﬂ =l ?ﬂﬂ[]w ?nmcw‘
'S. Dylan, Capital 231,005 231,005/ 231.005¢/
'S. Dylan, Withdrawals 40,000 40,0004/ ' 40,0004/ '
'Delivery fees eamed 256,060 | 256.060¢/ § 2560604/ '

Depreciation expense—Trucks | 50,000 5 7.682¢ 57,6624/ §  57682¢ '

-Sz.llariés expense . 1[]?545 - . 1El?545¢ | 1[]?545..}

Office supplies expense 16,000 10ﬂﬂq} 1?,!][]’:']‘-{. 1?,0[10.'./'

Interest expense 1,000 7.000¢/ £.000¢/ 8,000¢/

..ﬁepairs expense—TﬁmEs ?DDEI . TDDEI‘} '.rt]{}a.,i

Totals '$ 650045 |$ 650045 § 15682 § 156882 |5 664727 § 664727 197 227 256,060 467,500 408 66T
'Net Income ' : : : ' | 58,8334/ | 58,8334/
Totals § 256060 |$ 256060 § 467,500 | 467 500

2-1 Prepare the year-end closing entries for Dylan Delivery Company as of December 31, 2013.

December 31, 2013 ' Delivery fees earned

Income summary

. December 31, 2013 .lru:ume summary

Depreciation expense—Trucks
Interest expense

Office supp!bés expense
Repairs éﬁbense;'rmcks

Salaries expanse

. December 31, 2013 .En{:ume summary

| December 31,2013 S,

S. Dylan, Capital

DCwian, Capital
5. Dylan, Withdrawals

KA S SWAAIAAIS] SIS

2560604/
| 2560604
197,227/
. 57.682¢
£,0004/
17,0004/
7.0004/
107.545¢
56,833/
- seeny
0000¢/ |
40.000¢/

2-2 Determine the capital amount to be reported on the December 31, 2013 balance sheet.

249838¢
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